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i =

(B4 5]« AARND )

A F54E5 H K H BLE
HT HK A0 (58) A (40) An GH
H #HT 476 396 391 787
AT 1,783 1, 654 1,790 3,444
JHET 980 891 835 1,726
== 1T 1,257 992 1,053 2,045
FFHT 1,947 1,811 1,911 3,722
JTHT 1, 644 1,696 1,833 3,529
i 848 933 978 1,911
A AET 616 520 574 1, 094
At ZEHT 899 866 895 1,761
BT 700 628 626 1,254
HAET1 T H 887 849 851 1,700
HARET2 TH 806 788 765 1,553
PEFTIR 1 T H 2, 202 1,855 1,984 3, 839
VEETIR 2 T H 977 875 918 1,793
FRET 1T H 1,587 1,316 1,679 2,995
T2 TH 1,248 960 1,111 2,071
kAT 3 T H 1, 426 1,436 1,525 2,961
T4 TH 2,845 2,641 2, 863 5, 504
SRHET 927 896 939 1,835
FRAEHT 1,211 1,153 1,247 2, 400
EFIT1 TH 516 449 496 945
EJFET2 TH 783 850 802 1, 652
KT 3 T H 724 721 702 1,423
EJFIT4 TH 211 216 199 415
EJFET5 TH 472 451 195 946
AL P IR BT 1,111 1,139 1,090 2,229
[ B AT 1,572 1,652 1,771 3,423
FiEs 1,208 1,258 1,309 2,567
E1TH 428 460 494 954
tE 2 TH 621 737 744 1,481
tE3TH 478 540 532 1,072
EE4 T H 403 517 494 1,011
FAZENT 1,401 1, 056 1,097 2,153
-1l 721 704 726 1, 430
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4 F54E5 A K H B
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,026 848 1,032 1, 880
ERNET 892 953 975 1,928
KETHH 163 94 149 243
[icg gzl 867 905 883 1,788
HOHTHHT 1,007 1,095 1, 080 2, 175
KFEHE 1,744 2,032 2,019 4,051
KFFRIL 1,516 1,535 1,611 3, 146
Al - /N 6, 182 6, 393 6, 367 12, 760
KT TNLEm 4,916 5, 385 5,372 10, 757
KR EE 4,749 4, 549 4,616 9, 165
WAL 973 802 848 1, 650
[EREa 493 406 408 814
S 1,510 1,369 1,465 2,834
EoE1TH 544 537 510 1,047
BEo=2TH 718 643 647 1,290
KFEA K 4,757 5,018 5,028 10, 046
KFEFIE 3,413 3, 660 3, 680 7, 340
KFA 11,038 11,579 12,126 23,705
K7 Eilin 2,012 2,073 2,050 4,123
/INFFRET1 TH 2, 624 2,329 2,716 5, 045
/INFFRET2 TH 1,271 1,231 1, 204 2,435
/INFFRET3 TH 2,433 2,211 2, 474 4, 685
/INFFRET4 TH 1,591 1,487 1,526 3,013
KEd s 1,062 1,176 1,159 2,335
KFEFE 2,370 2,572 2, 655 5,227
KFAH A A 727 624 719 1,343
== = 851 993 990 1,983
KFEdsit 75 110 88 198
1 T H 907 993 1,036 2,029
2 TH 972 1,085 1,110 2, 195
B3 T H 873 783 898 1, 681
B4 TH 680 698 795 1,493
w5 TH 786 792 867 1,659
KFRZT 328 314 336 650
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BFI54E5 H K H BiAE
my 4 A AR (FB) i AAa & Al GH
KT 205 250 234 484
KPR 807 954 976 1,930
RF-H HH 144 183 179 362
KFBTH 152 184 163 347
KFHIH 16 21 19 40
KFFE A 459 539 503 1,042
Pl 1 TH 1,068 1,023 1,141 2, 164
il E2TH 1,130 1,150 1,203 2, 353
=M1 TH 948 1,010 1,087 2,097
M2 TH 356 323 386 709
3 TH 826 848 882 1,730
A TH 1,208 1, 140 1,182 2,322
HRLAr 1 TR 1,648 1, 492 1,628 3,120
WL F2 TH 1,415 1,537 1,554 3,091
Bkl 3 TH 781 835 929 1,764
WL F4 T H 364 219 308 527
WL E5 T H 159 152 170 322
WL 6 TH 593 483 578 1,061
Pl 1 TH 1,078 1,125 1,092 2,217
w2 TH 326 333 371 704
farE1TH 1,487 1,432 1,399 2,831
My 2TH 676 729 733 1,462
M3 TH 863 829 853 1, 682
#1TH 277 343 308 651
H2TH 270 327 328 655
#3TH 1,408 1, 429 1, 467 2,896
= &1TH 369 449 405 854
= E2TH 189 218 222 440
= &3TH 287 356 336 692
=E4TH 427 491 452 943
—&5TH 685 725 703 1,428
HEA 341 407 393 800
| 225 281 282 563
WA2TH 933 907 891 1,798
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D545 H K HBIE
i) % A (59) AB (%) UNEGD)
WA3TH , 099 1,414 1,531 2,945
WAR4TH 112 82 125 207
WA7TH 338 353 369 722
WA TH , 538 1, 165 1, 402 2,567
FRER1ITH , 727 1,862 1,906 3,768
FRER2TH 929 996 976 1,972
1 TH 234 255 269 524
2 TH 485 588 629 1,217
It 3TH , 034 1, 147 1,176 2,323
4 TH 60 80 71 151
e [ B 351 420 395 815
bR T 640 580 651 1,231
AT IR 592 714 734 1,448
WETIR1 T H , 480 1,477 1,311 2,788
WATIR 2 T H , 382 2, 647 2, 460 5,107
WRETIR 3 T H , 559 1,642 1,475 3,117
WATIR 4 T H 451 530 469 999
WAETIR5 T H 816 776 738 1,514
RPTRFIE 1 T B , 337 1,458 1, 300 2, 758
WHATRAIE 2 T H 321 1, 365 1,321 2, 686
WHTRAIE 3 T H 868 957 878 1,835
<TDEHE1ITH 436 289 379 668
<TDEH2TH 701 649 587 1,236
<TDEHE3ITH 888 731 824 1,555
TER1ITH 147 151 141 292
TER2TH 410 531 502 1,033
HEm 3 T H 551 605 596 1,201
TER4TH 598 655 649 1,304
MMRE1TH 679 759 783 1,542
MMRE2TH 706 768 844 1,612
INFFRFE1TH 552 623 631 1,304
INFEFRFE 2 TH 551 577 623 1,200
INFIRFE 3 TH 901 1,020 976 1,996
INFEIRFE A4 TH 799 964 965 1,929




far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

BFI54E5 H K H BiAE
i) W A (59) AR (&) AR GH
INFHER 5 T H 559 763 688 1,451
/INFFERG 6 T H 611 603 625 1,228
/INFFEET 5 T H 588 592 587 1,179
WNFRRTET 1 T H 766 771 729 1,500
/WNFfRTET 2 T H 561 617 587 1,204
/NFFRTHT 3 T H 823 1,033 1,027 2, 060
JEEFHHET 1 T H 89 105 115 220
LB 2 T H 27 37 21 58
¥ 1 TH 279 314 310 624
¥ 2 TH 155 181 188 369
¥ 3 TH 184 135 198 333
B 1 TH 100 122 128 250
kB2 TH 144 182 180 362
B3 TH 144 169 180 349
EFH1TH 820 803 813 1,616
E#FH2TH 1,251 1,378 1,337 2,715
EHFIE3ITH 1,394 1,564 1,564 3,128
EHFI4TH 1,329 1,446 1,545 2,991
EHFIESTH 1,681 1,864 1,911 3,775
INEEE 891 975 967 1,942



















